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QUESTION 1

Click the Exhibit button. Referring to the exhibit, which policy will export routes to IBGP peers?

M\ Exhibit
[edit protocols bgp]

userfrouter# show
preference 150;
keep all;
mtu-discovery;
export static-1;
remove—private;
top-mss 405%6;
group one {
export static-Z;
peer-as 2;

neighbor 10.1.0.1 |{

exXport static-3:

}

group two {
tvpe internal;
local-address 192.168.1.11;
export static-4;
local-as 1;
neighbor 192.168.1.12;
neighbor 19%2.168.1.13

A. static-4
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B. static-1
C. static-3
D. static-2
Correct Answer: A

Explanation; Type internal in group two indicates refers to an IBGP route.

QUESTION 2

Click the Exhibit button.
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You have an existing Virtual Chassis consisting of five member devices. Member 3 fails and must be replaced. You
remove the EX Series switch with a Member ID and install a replacement switch in its place using identical cabling as
shown in the exhibit. The replacement\\'s member ID is 6, so the configuration for member ID 3 is not applied to it.
Referring to the exhibit, what should have been done before installing the replacement switch?

A. Reactivate the Virtual Chassis.

B. Recycle the member ID of the switch being replaced.

C. Renumber the member IDs.

D. Clear the Virtual Chassis protocol.

Correct Answer: B

QUESTION 3
Which statement is true about GRE tunnels?
A. GRE tunnels can be used for only IP packets.

B. GRE tunnels ensure that a packet does not live forever.
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C. Packets are encapsulated unchanged before entering the tunnel.
D. GRE tunnels support point-to-multipoint.

Correct Answer: C

QUESTION 4

You received an alert from your monitoring system that the master Routing Engine (RE) on an EX4300 switch in a
virtual chassis has hardware issues and might need to be replaced. Because the switch already had graceful Routing
Engine switchover (GRES) enabled and configured, you must perform a manual switchover to the backup CK to avoid
disruption. Which command would be used to perform the manual CK switchover?

A. Log in to the backup CK and issue the request chassis-control operation command.

B. Log in to the backup CK and issue the request chassis routing-engine master switch operation command.

C. Log in to the backup CK and issue the request chassis routing-engine master acquire operation command.

D. Log in to the backup CK and issue the request iccp-service operation command.

Correct Answer: B

QUESTION 5

You disconnected a switch from the Virtual Chassis, but the disconnected switch\\'s member ID is still
displayed in the status output.

Which operational command is used to remove the disconnected member?

A. request virtual-chassis renumber member-id 3 new-member-id 2

B. request virtual-chassis vc-port delete pic-slot 2 port 0

C. request virtual-chassis reactivate

D. request virtual-chassis recycle

Correct Answer: D
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